Review for Midterm #2
Math 1050 Instructor: Louise Atkinson
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Polynomial Functions

1. For g(z) = z* + 42® — 1022 — 28z — 15 (hint: = = 3,z = —1 are roots) find:
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3. For f(z) = «* + 32% — 42? — 30z — 36 (hint: z = 3,z = —2 are solutions) find:
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4. For f(z) = 2% — 222 — 2z + 1 (hint: (z + 1) is a factor), sketch the graph and show the z and y intercepts.
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5. State all the possible rational roots for: ...
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6. Find a third degree polynomial f(z) that has a real root at =1 and a complex root at z =1+ 1.
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7. Find a third degree polynomial g(x) that has a real root at = —1 and a complex root at z =1 — 7%2
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Rational Functions

8. Find the following information for the given function:
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9. Find the following information for the given function:
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10. Find the following information for the given function:
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11. Find the following information for the given function:
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13. Find the following information for the given function:
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14. State the end behavior for the following polynomials:
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16. Graph each of the following functions. State the domain, range and any asymptotes.
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17. Simplify the following to a rational number
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